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Overall QC vs iteration
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Overall QC, summary distributions
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Overall QC, summary maps

@ Fitted peak map @ Fitted width map @ Gain map
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Overall QC, bad channels

T Mass Vs. Channel Number

@ Mass Vs. Channel Number ———] 70 Mass Vs. Channel Number 7€ Mass Vs. Channel Number
p " s p
w w w w
o n o o
« w o «
! S—— P S— o S—— o ——
Wf b i i
AT BT ' "

a0y
aof

7

&0l

(OF  #2794,1ing # 22
“E

f 1

v '

e

vk

ijaegle@jlab.org (JLab) FCAL energy calibration QC period45 6 /15



QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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QC per rings

If radius divided by 5 cm, there is 24 rings
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